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g 1 a. Using source transformation techn,&[ &% d the current through $Q resistor for the circuit
B shown in Fig.Q.1(a) R, (06 Marks)
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Fig.Q.1(a) a@u
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a=§ b. Use Mesh Analysis %zgie’cermme the Mesh curr% i, i, and i3 for the network shown in
o Fig.Q.1(b). . - (06 Marks)
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2 5 c. Find® th@,power delivered by lgl:u‘rént source usmg n@fal "analysis for the circuit shown in
£ Fig.Q.1(c). ; i (08 Marks)
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g 2 2 a Three Impeda%lgcs are connected L%% obtam the star gquwalent of the network.
= % (06 Marks)
) g b. Use Mesh Analysm to find power delivere *-b he dependent voltage source in the
£ 8 L g
o c:rcu;t*sﬁ‘awn in Fig.Q. 2(b) oy, %, S (06 Marks)
E y,
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cu'cmt shown in Fig. Q 2(c) using nodal analysis.
(08 Marks)
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Meodule-2
a. State and explain superposition theorem . ((}6 Marks)
b. Use Millman’s Theorem to find the current flowing gya;gh (2 + j3)Q impedance for the
circuit shown in Fig.Q.3(b). (08 Marks)

c. Tl (06 Marks)
a. l“ig.Q.4(a) with respect to
(08 Marks)

b er in the AC circuit, where both Ry, and X, are
varymg ‘ 3 {06 Marks)

c. Determige -h@ current through the load resistance using Norton’s Theorem for the circuit
3 {06 Marks)

. Explaim the beha‘v rof R, L, C eiement"s’ @Y the time of sué;e};,lﬁg att=0,att=0" and t=oo
' Loy 5 %jz»‘ " (07 Marks)

m % att=0". Assume that the capacitor

(07 Marks)

shown in Fig, Q%Qc) find, i, 2: and g—{;— at t = 0", The swich k is closed at

(06 Marks)

Fig.Q.5(c)
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b. Find the Laplace transi}r@a

\{-e
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a. In the network shown in Fig.Q.6(a). The switch k is chan Jeffom position a to b at t =0,
the steady state is reached at position a. Find i, LS % at t = 0", Assume that the
capacitor is initially uncharged. f%ﬁ (10 Marks)

a-"ea . )
ooy =
lp.Q.6)

b. For the network shown in Fig.Q. 6(5{3‘?[& network is in steac%;tfte with switch k is closed.
At t = 0, the switch is openedi:L éférmme the voltage a&r:;%’ the switch V) and g—-V at
{ =07, Py (10 Marks)
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a. Obtai %Laé‘face transform of ,, 5
i) St%p function LW s
i)  Ramp function & ‘ ;-‘é, ,@m
iii)  Impulse function. J lg‘ (09 Marks)

b. Find the Laplace transfofméf the periodic mgn,af%(t) as shown in grQ 7(b). (11 Marks)
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a. Inthe'series RL circuit sﬁ% in Fig.Q.8(a), thefsource voltage is v(t) = 50 sin 250tV Using
Laplace transform det e, the current gv%sthch K is closed at t = 0. (10 Marks)
Sl A7 ebS-
:L-;’?Pﬂ; b + g’
vV & ‘p; » 000F H
& Fig.Q.8(a)

£ the non-sinusoidal periodic waveform shown in Fig.Q.8(b)
fw

Fig.Q.8(b)
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' Module-5 .
9 a. Define Z parameters. Determine Z parameters interms of Y 5 eters. (06 Marks)
b. Determine h parameters of the circuit shown in Fig. Q.Q(iﬁ% (07 Marks)

T e Seee

C. (07 Marks)

14 a. (03 Marks)

100uF. The; l;iplied voltage is 230V. Fmd 1) The resonant ﬁ“equcncy ii) lower and upper

cut off; uehcws iii) current gﬁgpsonancc iv) currents at fy and f; v} Voltage across.
i ‘m : (67 Marks)

{10 Marks)
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